Cll# KonBepranus MeTpudeckoit Mepbl 00beMa Nwmst:

3ano/jiHuTe MPOOeEIbI, ONpeaessis NPABWILHYI0 KOHBEPTAIUIO. OTBeTHI
1) autpoB(pa) = 19 000 MumuanTpoB(pa)
1.
2) autpoB(pa) = 26 000 MuuTHIUTPOB(pa)
2.
3) mutpoB(pa) = 17 000 muuHIuTpOB(pa)
3.
4) autpoB(pa) = 23 000 MuuHIUTPOB(pa)
4.
5) autpoB(pa) = 13 000 MumIuTpOB(pa)
5.
6) autpoB(pa) = 12 000 mumuauTpoB(pa)
6.
7) autpos(pa) =21 000 MmumunuTpoB(pa)
7.
8) autpoB(pa) = 27 000 MummuIUTpOoB(pa)
8.
9)  snurpos(pa) =9 000 MuuHanTpoB(pa)
9.
10)  murpos(pa) = 3 000 MuLTHINTPOB(pa)
10.
11) MUJUTHIATPOB(pa) = 28 muTpoB(pa)
11.
12) MULTHIATPOB(pa) = 29 autpoB(pa)
12.
13) MUUTIIIATPOB(pa) = 11 mutpoB(pa)
13.
14) MIJUTHIIATPOB(pa) = 8 uTpoB(pa)
14.
15) MUTAIATPOB(pa) = 16 muTpoB(pa)
15.
16) MUJUTWIATPOB(pa) = 7 TUTpoB(pa)
16.
17) MUUTHUIATPOB(pa) = 14 nmutpoB(pa)
17.
18) MUUTIATPOB(pa) = 22 muTpoB(pa)
18.
19) MWUTHIATPOB(pa) = 5 mutpoB(pa)
19.
20) MUJUTHIIATPOB(pa) = 2 muTpoB(pa)
20.
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KOHBepTaHI/Iﬂ MeTpI/I‘{eCKOﬁ MCPBI o0beMa Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM
3anmoJHuTE NPOOEBI, ONpeIeiss NPABHILHYI0O KOHBEPTAIMIO. OTBeTHI
1) 19 murpos(pa) = 19 000 Mumnutpos(pa) 19
1.
2) 26  autpos(pa) = 26 000 MuIMAMTPOB(pa)
2 26
3) 17  autpos(pa) = 17 000 Musmuautpos(pa)
3. 17
4) 23 aurpos(pa) = 23 000 MusIHaMTPOB(pa)
4 23
5) 13 smurpos(pa) = 13 000 MusmauTpos(pa)
5. 13
6) 12 marpos(pa) = 12 000 Musmmmurpos(pa)
6. 12
7) 21 sumtpos(pa) =21 000 MummuauTpoB(pa)
7. 21
8) 27  murpos(pa) = 27 000 MumuiutTpo(pa)
8. 27
9) 9  murpos(pa) =9 000 MumHIUTpoB(pa) 9
9.
10) 3 aurpos(pa) =3 000 MumuanTpoB(pa) 3
10.
11) 28000 wmumaunnTpoB(pa) = 28 nurpos(pa)
1. 28000
12) 29000 wmumamnuTpos(pa) =29 aurpos(pa)
2. 29000
13) 11000 wmummanuTpos(pa) = 11 autpos(pa)
3. 11 000
14) 8000 muummmurpos(pa) = 8 muTpoB(pa)
14, 8 000
15) 16 000 wmummnuTpos(pa) = 16 autpo(pa)
5. 16000
16) 7000 muwumnurpos(pa) = 7 1uTpoB(pa)
16. 7 000
17) 14000 wmummmnmurpos(pa) = 14 nutpos(pa)
7. 14 000
18) 22000 wmunmamunnTpos(pa) =22 nurpos(pa)
8. 22000
19) 5000 wmwmwmmarpos(pa) = 5 nmurpos(pa)
19. 5000
20) 2000 wmummmaTpoB(pa) = 2 auTpoB(pa)
20. 2000
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